EHB

series

&=0/5 Ot=CloE

Aluminum anodizing

—_— AL >
15k & SXE TS A=00]H
Electric actuators for For transferring with heavy load and middle-low speed

2 ASS Ef
Ball screw type

= AfO[= 062 - 080 - 100 - 120
Body size 062 - 080 - 100 - 120

2d /HE /70|
Straight/Parallel/Guide

12



PHB Series

=238 Al Order Information
@[062 H S HsooH s H 40“3 H 2 H FSL ]
® @ ©) @ ® ® @ ©
@ A Type
PHB ‘ = A3 EF Ball Screw Type
@ =i AO|= Body Size
‘ 062 ‘ 62 | 080 ‘ 080 ‘ 100 ‘ 0100 | 120 ‘ 0120

@ &4 Shape

S : Z|& Straight Type P : 83 Paralle Type G : 7}0|= Guide Type
@ AEZ3 Stroke
100 100mm 200  200mm 300 | 300mm
400 | 400mm 500 500mm

\
% 500mmoO|&el Atfof tisiAl=s S 2 tHSELICE
For specifications of 500mm or more, special order is available,

® BE Et Motor Type

S Servo | T Step
® ZE| 22F Motor Capacity
715 2(W) 062 080 100 120
40 400W o
75 750W o [
100 KW [
¥ BE W 247] NES T2 A0 22i0] FHUAIR.
Please contact your nearest sales office for motor and reducer selection.
@ Ee2i|0|= 2t Motor Brake
B With Brake

| None ‘ Without Brake

MM £2F Auto—s/w Q'ty
1 171

2 274 37K

© OFRE =212l Mount Bracket (Option)

ZoOlRE | FSL | &5% ZoieE

Axis right angle foot mount

 FF | 2E=Z¥X | FM

_TRN | EzfLiel f2E
Trunnion mount

Flange on load side Foot mount

X OISE S2Z1S MEfARRIL|
13 Mount bracket is option.



I.' Smart Actuator

AF2F Specifications

st= SA| PHB062 PHBO080 PHB100 PHB120

Zx| AHO|= Body size mm 062 080 0100 0120

2 ZIZ Roddemeter  mm 825 $32 $45 50
AT E EIA Screw diameter MM %16 % 20 # 32 % 40
AFE 2|E Screw lead mm/rev 5 5 10 10

HH=L M Reapeatabilty +mm 0.05

Z|HAEZ 3 Maxstoke  mm 0~500

Z|CHLE Maxspeed  mmy/sec 250 250 500 330

Sl Force (X-axis, Z-axis)(¥) kgf | X:200 Z:85 X:300 Z:160 X:600 Z:300 X:1000 Z:500
7|2 XHZE! Basic materials 20| OF=CHO|&! Aluminum anodizing White

212 71 2Elo| MEX| eItk 26 HZ Al Blo] 22 45 U WS UL,

[SIE

% Force is the value of standard motor. If change the motor, Force value may vary or increase.

=zF Weight

AEZg =3 el (PHBODOOS) W3 EtY (PHBOOOP) 7l0|= EMY (PHBOOOG)
Stroke Straight type Parallel type Guide type
(mm)

062 080 100 120 062 080 100 120 062 080 100 120

100 3.5 6.0 13,5 | 20.8 3.0 6.5 1.0 20.4 4.5 8.0 16.0 | 24.0

200 4.0 6.7 15.0 | 234 3.8 7.7 125 | 23.0 8.3 9.5 18.0 | 275

300 4.5 7.7 17.0 | 26.0 4.5 9.0 145 | 254 6.5 10.5 | 20.0 | 30.5

400 5.3 8.7 19.0 @ 284 52 10.5 16.0 | 28.0 7.5 1.5 22.0 | 335

500 6.0 9.7 21.0 31.0 5.8 1.5 18.0 | 30.5 8.5 13.0 | 240 | 36.5




15

X|4=E Dimension (mm)

S =I™EIQ] Straight type

S(Stroke)

S

K
L

4-@N

| Il =

AE2T PHB062 S
Stroke | A B C D E F G H I J K L N
100mm | 30 18 278 72 350 @25  MIOx15 | @42 @ @23 19 48 62 6.6
200mm | 30 18 378 72 450 @25 MIOx15 @ @42 @ @23 19 48 62 6.6
300mm| 30 18 478 72 550 | @25 < MIOXx15 | @42 @ @23 19 48 62 6.6
400mm | 30 18 578 72 650 = @25 MIOx15 @42 @23 19 48 62 6.6
500mm| 30 18 678 72 750 @ @25  MI0Ox15 | @42 @ @23 19 48 62 6.6
AEZT PHB080 S
Stroke | A B C D E F G H | J K L N
100mm | 30 18 313 90 403 @32 M4x2 @56 @30 24 64 80 a9
200mm | 30 18 M3 90 503 @32 Mi4x2 @56 @30 24 64 80 a9
300mm| 30 18 513 90 603 | @32 | Mi4x2 @56 @30 24 64 80 a9
400mm| 30 18 613 90 703  ©32  M4x2 @ @056 @ ©30 24 64 80 @9
500mm| 30 18 713 90 803 | @32 | Mi4x2 @56 @30 24 64 80 @9
AEZS PHB100 S
Stroke | A B C D E F G H | J K L N
100mm | 50 35 383 102 485 | @45 | M6x2 @74 | @42 34 80 100 o1
200mm| 50 35 483 102 585 @45 @ MI6x2 @74 @42 34 80 100 211
300mm| 50 35 583 102 685 | @45 @ M6Xx2 @ ©74 @42 34 80 100 211
400mm| 50 35 683 102 785 | @45 @ MIEx2 @74 @42 34 80 100 o1
500mm| 50 35 783 102 885 | @45 @ M6Xx2 @ ©74 @42 34 80 100 211
AE2S PHB120 S
Stroke | A B C D E F G H [ J K L N
100mm | 50 35 438 | 132 570 | @50 | M20x25 @74 ©48 | 36 96 120 @14
200mm | 50 35 538 | 132 670 @50 @ M20x25 @74 @48 @ 36 9 120 @14
300mm| 50 35 638 | 132 770 @50 M20x25 @74 @ ©48 | 36 96 120 @14
400mm | 50 35 738 | 132 870 | @50 | M20x25 ©74 ©48 @ 36 9% 120 @14
500mm| 50 35 838 | 132 970 | @50 M20x25 @74 @048 | 36 9 120 @14
X2 HEZ MM 222 LS o DE XEo| AU ZO| SAS 2J510] AR 0|1 3{0] HAT 4 UL

% The contents of this manual and all product specifications are subject to change without prior notice for quality improvement.



x|2~E Dimension (mm) = Smart Actuator

P =2ElQ! Parallel type

S(Stroke) A .
L I I
[
I —
5 f e - —
1
_J_
K \4-gN - c U
L E
AEZT PHB062 P
Stroke | A B C D E F G H | J K L M N
100mm | 30 18 278 42 320 @25  MIOx15 @42 @23 19 48 62 134 @66
200mm | 30 18 378 42 420 @25  MIOx15 @42 @23 19 48 62 134 @66
300mm| 30 18 478 42 520 @25 | MIOx15 @42 @23 19 48 62 134 @66
400mm | 30 18 578 42 620 @25 MIOx15 @42 @23 19 48 62 134 @66
500mm | 30 18 678 42 720 | @25 MIOx15 @42 @23 19 48 62 134 @66
AEZg PHBO080 P
Stroke A B © D E F G H | J K L M N
100mm | 30 18 313 54 367 | @32 M4 x 2 956 @30 24 64 80 174 29
200mm | 30 18 413 54 467 | @32 M14 x 2 956 @30 24 64 80 174 29
300mm| 30 18 513 54 567 | @32 M14 x 2 256 @30 24 64 80 174 29
400mm | 30 18 613 54 667 @32 M14 x 2 256 @30 24 64 80 174 29
500mm | 30 18 713 54 767 | @32 M14 x 2 256 @30 24 64 80 174 29
AEZT PHB100 P
Stroke | A B C D E F G H | N K L M N

100mm 50 35 383 62 445 @45 M16 x 2 Q74 @42 34 80 100 214 on
200mm | 50 35 483 62 545 @45 M16 x 2 Q@74 @42 34 80 100 214 on
300mm | 50 35 583 62 645 @45 M16 x 2 Qg74 | @42 34 80 100 214 on
400mm | 50 35 683 62 745 @45 M16 x 2 @74 @42 34 80 100 214 o
500mm | 50 35 783 62 845 @45 M16 x 2 Q74 | @42 34 80 100 214 a1

AEES PHB120 P

Stroke | A B C D E F G H | J K L M N
100mm | 50 35 438 70 508 @50 M20x25 @74 @48 36 96 120 267 | @4
200mm | 50 35 538 70 608 ©50 M20x25 @74 ©48 36 96 120 | 267 g4
300mm| 50 35 638 70 708  ©50 M20x25 @74 @ ©48 36 96 120 267 | g4
400mm | 50 35 738 70 808  ©50 M20x25 @74 ©48 36 9 120 | 267 g4
500mm | 50 35 838 70 908 @50 M20x25 @74 @48 36 9 120 267 | gl4

HE ME JTMO| $SH hE Y 2E B0l AlS Bl NS A50f A ool BT 4+ USLICE
% The contents of this manual and all product specifications are subject to change without prior notice for quality improvement.



X|$E Dimension (mm)

G 7t0|=E} Guide type

S(Stroke) A

AEZT PHB062 G

Stroke A B C D E F G H I J K L M
100mm | 48 18 164 62 146 2 132 44 118 30 68 @85 M8
200mm | 48 18 164 62 146 2 132 a4 118 30 68 @85 M8
300mm| 48 18 164 62 146 2 132 44 118 30 68 @85 M8
400mm | 48 18 164 62 146 2 132 44 118 30 68 ©85 M8
500mm | 48 18 164 62 146 42 132 44 118 30 68 @85 M8
AEZT PHBO080 G

Stroke A B C D E F G H I J K L M
100mm | 48 18 184 80 166 58 152 a4 138 30 80 @9 M8
200mm | 48 18 184 80 166 58 152 44 138 30 80 29 M8
300mm | 48 18 184 80 166 58 152 a4 138 30 80 @9 M8
400mm | 48 18 184 80 166 58 152 a4 138 | 30 80 29 M8
500mm | 48 18 184 80 166 58 152 a4 138 | 30 80 29 M8
AEZ2T PHB100 G

Stroke | A B C D E F G H I J K L M
100mm | 70 20 204 100 @ 182 78 172 58 140 40 80 on M10
200mm | 70 20 204 100 182 78 172 58 140 40 80 o M10
300mm| 70 20 204 100 @ 182 78 172 58 140 40 80 on M10
400mm | 70 20 204 100 182 78 172 58 140 40 80 o M10
500mm | 70 20 204 100 @ 182 78 172 58 140 40 80 on M10
AEE3 PHB120 G

Stroke | A B C D E F G H I J K L M
100mm | 70 20 224 | 120 202 98 192 78 160 60 96 @14 | M0
200mm 70 20 224 120 202 98 192 78 160 60 96 @14 M0
300mm| 70 20 24 | 120 202 98 192 78 160 60 96 @14 | M0
400mm | 70 20 24 120 202 98 192 78 160 60 96 @14 M0
500mm | 70 20 224 | 120 202 98 192 78 160 60 96 @14 | M0

*2 TE AZMO| A2 LIS L BE XZO| A2 Bl HAS A5i0f AR o TRl0] BT & UL
% The contents of this manual and all product specifications are subject to change without prior notice for quality improvement,

17




OrREE2fZ] X|$&E Dimension of Mount Bracket (mm) = Smart Actuator

FF =c= =Zaix| ol2E Flange on load side

>

c 4-F
/
Wﬁ I | 1 A
| |
@e f) gj | e | D l
& @5@ | | | )

=y X|4= Dimension (mm)

Body Size A B @ D E F
0062 10 62 90 42 12.5 29
£080 128 80 108 60 12.5 29
0100 150 100 125 76 16 g1
1120 172 120 147 96 16 214

FM

02 E Foot mount

M

<+ \ 1 0
=l ’74‘ 1]
N ZNN N —
o v | | I )
T ] =T L=
LE N
D

o X|%* Dimension (mm)

Body Size A B C D E F G H | J K L M N
1062 62 72 41 34 22 44 20 10 R4.5 85 104 = @85 12 36
0080 80 92 52 36 24 62 20 12 R45 105 124 @85 14 45
0100 100 125 75 45 30 80 24 15 R55 124 146 o 11 17 51
0120 120 145 85 45 30 96 28 15 R55 144 166 o1 17 66




Of2EH2f3]l X|3== Dimension of Mount Bracket (mm)

FSL =xizt = 0l2E Axis right angle foot mount

AE\
%

19

- [
\ | @7 T[]
g o el L Bl
% aia )
) &l
B
1 ! ’—‘ 1 f
@ﬂiiE ﬁ\
al ‘ =l
| S | { I )
| | ; [ [
A 12| 12|
=3 X|4= Dimension (mm)
Body Size A B C D E =
0062 104 20 85 20 10 29
080 124 20 105 25 12 29
0100 146 24 124 35 14 (2]l
0120 166 28 144 40 16 o1

TRN

EZL|A OF2E Trunnion mount

LRI
O
A
s HRIE : TAN-M
! ! ’—‘ | f
g SIIN———— . ———— PN =
% VY — ) () e~ U]
! 1 )
Center
E F
TAN-M
ey X|#= Dimension (mm)
Body Size A B C D E F
0062 122 98 #10 #15 15 15
1080 140 116 $10 #15 1.5 20
100 172 142 #15 $20 15 31.5
0120 192 162 #15 $20 15 49




HMSAZIH AL8 8 Electric Cylinder Purpose of Use = Smart Actuator

> Conveyor Push 2> Conveyor Push > Conveyor

=i

—

> Syringe Injection > Bottle Guide Height Change > Switch Test (Right)

:ﬁ :’

> Smart Actuator > Resolute Position Motion > Switch Test (Trimetric)

o [ ]
—— I .
> Conveyor High > Work Fix > Conveyor Verticality (Trimetric)

20



= A2l ™8 20} Electric Cylinder Applications

| Position, Fill, Assemble

* Printing

* Part Verification
* Precision Filing
* Stamping

* Pressing

* Labeling

| Gating, Sorting

* Rejection
* Guiding

* Guide rail width change

| Applying, Dispensing

* Spraying

* Cutting

* Slitting

* Test Fixtures
* Inspection

* Filing Nozzle Positioning

| Storage, Retrieval

* Parts Transfer
* Pick & Place
* Stacking

* Sorting

* Palletizing/De—palletizing




Bevel Gearbox X& A| Z2At8t Precautions on Apply to Bevel Gearbox = Smart Actuator

HE Al FeAre

B 715 S5 Ao =M Az B Most importantly, if the cylinder
ol £Io| SX||X| toH is not leveled, it will cause noise
A1} XIso| &0lo| ElL|Ct and vibration,
ALIGNMENT

orf O|Ate] B|F T A512t 7|AI2 =5t I LEZO| When combining two or more rotating and liting machines,
they must be arranged in such a way that the center of

= rotation and elevation center line are aligned exactly so
2 QUAEE M7t 3™ 2 S51Z SAMO| HES| LR that the twisting, thermal expansion and bearing load of
SIE2 Hisliof Shct, the axis of motion can be properly distriouted.

m 2= 2 maof ofx|z ARl LR EESTE S
CiS ZYE Al RODS| B ol BISEI0| LOILIX| =S
40| & 4 o of= ZEol3HoF BHick
MEID| 230l A2tst Zals

W Be careful not to twist by bolt when
assembling upper and lower part,

B Assembling the cylinder forcibly to
the frame to be attached may cause
eccentricity of the rod, which can
seriously affect cylinder life.

B ROD & 220l YIRSt LIS 083H 2 MEIH 2| LEVELS
SYsHA RXIRLICH
LEVELO| FXI=IX| 42 Al HolE & HE{Q| nist T0|
Aol = UFLICH

B Keep the level of each cylinder the same with the screw located at the end
of the rod. If level is not maintained, may occur overload to motor,

22



PISCO

DISTRIBUTED BY

s

USEN UNUABUIABSINSA DA | ©: enandeeintertrade
NANDEE lNTER'TRADE CO., LTD. f : nandeeintertrade

NANDEE 314,316,318,320,322 w08 3unti 32 auudunit waneveinaau 1maqms nnu. 10120

@: www.nandee.co.th

dadonaaovaudl We!l TR >\ czersszs0co aio-as




